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NOTE: Write answers to the questions on objective answer sheet provided. four possible answers AJB,C & D to each question are give. which answer
you consider correct, fill the corresponding circle A,B,C or D given in front of each question with marker or pen ink on the answer sheet provided.
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The value of Assetswat the end of working life is called: 34".8!1;'( =44 .;Ig;’:t‘u’.'éu( e
(A) Market value =d YA (B) Scrap value eddn
(C) Book value v g (D) Cashvalue B
Consignee is: :q.._,.‘JlJ’ /
(A) Buyer 4/ (B) Seller 5/ (C)  Agent o5V (D) Owner
The person to whom the goods are dispatched for sale is called: :‘gt‘ﬂg( 9 )18(?‘;.3/ il L pi s .f” 2
(A) Consignee JIJ} (B) Debtor 1/ (C) Consignor J (D) Creditor #5./
Account sale is sent by fe bl e YAV r e
(A) Seller =3/ (B) Buyer Au? (c) Consignee .J! g / (D) Consignor o /
The Liability of partner in partnership is: :‘g.d/l),ajgf s> JoAT ;
(A) Unlimited it (B) Limited 5.
(C) Limitedupto capital s/ Farf by (D) Middle Jys
Shares issued at printed price is called: :Lnd/lg{r_';f uﬁ(y/»?u“o
(A)  Atpar (1 (B) Atdiscount 405 (©) Atpremium 40t (D) Atloss 4ol
Maximum partners in banking business are: (st 2 nl e ol It A KL S
(A) Twenty & (B) Fifty/Jl (C)  Seven =\ (D) Ten U
Company created by special order of king is called: :;.Ju{ 4._(3&4! (,’ (8% L('; Lalﬁ)g.ed@r el
(A) Public company d{ {ls (B) Private company u%r g
(C) Chartered company U{ $24e (D) Statutory company ] &7
A company is formed by: :4‘-{}'!?(5/ (" E Z_’:.u'é_---.;; ....... u"{
(A) Directors HA& ~ (B) Promoters gt (). Shareholders ¢ids.«> (D) Accountant =3kl
Debenture holders are: 09 2 e
(A) Debtors 1/ (B) Creditors o # 7/ (C) Owners il (D) Promoters gkl
Ifg share of Rs. 1 0 is issued at 10% premium then issue zJﬁéfJJi;q_'/dle/,(f'/,10%"—'1”31(&-’/10u‘i/‘
price of share will be: ¥
(A) Rs9 (B) Rs.10 (©) Rs.il (D) Rs.12
In single entry system it is not possible to prepare: :t‘mﬂ) uﬁ bl 3 )’érlﬁ;j/’ r
(A) Balance sheet PN o) (B) Trading account Erayr
(C) Trial balance MULWL;; 51l (D) Profit & loss account :U’ul.a'ﬁ;d"‘
In single entry system statement of assets and liabilities is called: :4‘_(:'111/,/!;";( Flalihale S0 (b'/ iy S
(A) Profit & loss account :ufuw',&’ (B) Ledger S
(C) Statement of affairs .vll'b«'g/l;"'f (D) Trial balance u"’-‘v'J/l/"
Net worth of an organization means excess ofits assets over: :q_anc:—kﬂ'ldﬁﬁd I:JLJ) GJc_/blu’( .
(A) Liabilities UL /2.3 (B) Cash (W (C) Expenses =il (D) Income a7
Endowment Fund is: i Ao kil
(A) Expense &/ ®B) Income (a7 (C) Liability ($ssmss (D) Asset 8
Subscription relating to current year: ‘ :‘Ldm&,«:;:_sUde,zr
(A) Asset A (B) Income gl (C) Expense 154 (D) Liability $sbsass
Non-Trading concern prepare: :q,t'//.l}‘ublaz?' 2
(A) Profit & lossaccount U uw',a’”' (B) Ledger =W(ff
(C) Trading account Ay (D) Income & Expenditure account =l FsesaTpdsS
Income and expenditure account is: e Aot Pt T
(A) Nominal account Py (B) Real account :bﬂ:‘:“’
(C) Personal account P (D)  Cashaccount Ay
Which Asset is not depreciable? ?‘G-L(Jf/;d:@ L',ﬁf'lt/uf
(A) Building =Af (B) Machinery /:,"’ (C©) Land (&) (D) Fumiture /,f j
Amount of Assets may rise or fall due to: v :98;4&.? ({ Sl wlo 38
(A) Depreciation J»’/’ (B) Fluctuation Jas. (C) Depletion ﬁ'ﬁ (D) Wear & Tear J#ci9
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Inter - (Part-ID)-A-2022
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2x10=20 Jil oo

2. Write short Answers of any five parts from the following: 2X5=10 2,7tz #Limbie §/e tiditn

i. Define single entry system.

ii. [Is statement of affairs is substitution of balance sheet? Discuss

iii. Explain consignee.

iv. Explain consignment.

v. What is indirect expense on consignment?
vi. Explain receipt & payment account.
vii. What is meant by surplus?

viii. Define subscription.
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3. Write short Answers of any five parts from the following: 2X5=10 2, 2cliz F Landie (e bt its

i. Compare the depreciation and depletion.

ii. Define the depreciable Assets.

ili. Describe any four characteristics of joint sector company,

iv. Explain separate legal entity of joint stock company.
v. Define holding company.

vi. Explain unlimited liability in partnership.
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vii. When the revaluation of Assets and liabilities is made? Describe. ?C‘—t“_’!'r(-?/( U:J (;afugmf el2lsstelp 241, U o vk

viii. Define nominal partner in partnership.

Section-II

Note: Attempt any three questions from the following.

4. Nayyab keeps his books under single entry system. Her Financial
information are given below. Prepare her profit or Loss
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statement,
Pacticaln oy 01—011{ -:.om 31-1 }2{-&2001

Cash SH 1000 3000
bank sobe 3000 2000
Stock 023 2000 1900
Deborts S 850 1400
Creditors o7/} 2200 2900
Fumiture %/} 180 150

Machinery  (§ »* 1500 2700

Additional information:~

(i) Depreciation on Machinery 5%
(ii) Drawing of Nayyab Rs. 1200.
(iii) Fresh capital Rs. 500.
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5.

From the following receipts and payments accounts of crown
club, prepare an income and Expenditure account for the year

ended 2019, 31" December.

:.:U/ﬁ.u;;? 13191 u,v.!f)‘jj(gup( Juil/
SR raT 220194531

Receipts U [ Rs Payments Ul | Rs
Balance b/d UE0as | 130 | Rates =t | 2500
Entrance Fee iy | 210 Stationery A= | 3950
Subscription =lpsx2 | 11010 | Building =JF | 2500
Lockers Rent %0 | 300 Repairs S 1300

| MiscellaneousFee 20,2 | 1660 | Balancec/d J"-Lf’u' %1 | 4060
Total F | 13310 | Total S| 13310

The following further information are available. -wh.d?)u’bt}h’d‘;@/)

() Locker rent for the current year is Rs. 30 unpaid.
(i) Rates are still pending Rs. 620 for this year. .
(iii) Subscription outstanding for the current year Rs. 210.

Hussain Brothers purchased machinery for Rs. 500,000 on ™
January 2016. Rs. 100,000 was spend on its installation. Prepare
machinery account for first 5 Years'if depreciation is charged at
10% p.a by diminishing balance method.

Mr. Ali sent 100 fans to Mr. Taqi on consignment basis. Ali has

spent Rs. 300 on packing. Cost of one fan is Rs. 2500, Taqi has

sent bank draft of Rs. 55000 as advance to Ali Taqi spent.Rs.300

as freight and Rs.4000 as fare. Taqi sold all fains for Rs,3500

each. Taqi is entitled to 10# Commission on sales. Tagi settled

his account.

Required: Pass journal entries in the book of Mr. Ali and prepare

consignment account.

Ali company has authorized capital of Rs.2000,000 divided in to

20,000 shares of Rs. 100 each. On 15" Jan.2020 company issued

5000 shares to public at 5% discount. On 1 5% Jan.2020 company

received applications for 6500 shares. 5000 shares were allotted

and excess money was refunded.

Required: Pass the Journal entries in the books of company and

also prepare balance sheet.

A and B are partners in a firm. Partnership deed as follows:

® They will introduce a capital of Rs. 50,000 and 40,000
respectively.

(ii) Interest on capital will be charged @ 5%.

(iii) During the year Mr. A withdrew Rs. 10.000.

(iv) Mr. B received a salary of Rs. 500 per month.

(v) Profit during the year 2021 was eaned Rs. 100,000.

(vi) Remaining profit will be distributed equally.

Required: Profit and Loss appropriation account and capital

accounts under fluctuating method.
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